Solving Word Problems with Equations
1. The Length of a rectangle garden is 4 units longer than twice the length. Find the dimensions of the garden if the perimeter is 50.

2. In a triangle, the largest angle is three times the size of the smallest. The middle angle is 5 degrees greater than the smallest angle. Determine the size of each angle.

3. Ravi is saving for a ski trip that cost $500. If he triples his savings, he will still need $35. How much money does Ravi have in his savings?

4. Hilda is shopping online for some new pants. There is a tax free sale. She orders some new pairs of pants for 15 each. She also had to pay 7.95 for shipping. If her total cost was $82.95, how many pairs of pants did she order?
 Check your answer to see if it’ right. Show your workings.
Complete the following questions in the book; 
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